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» Kick off-
1) Write the equation of the circle whose center is (-4, -6) and has a point (-2, -6) on the circle.
Cyru)? ’Uj*r(p)g’ 4
(-arg)? + (6t =4
2) Graph the equations to number 1!
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C 3) Write the equation of the circle in standard form: x% 4+ y* — 2x + 24y + 120 =0

X 29 x +\j“_+(}bl§j 1‘}%2;9&,0
K&ax+Yyri3dy --130

Lx-VD% UJ*\’Q) as

4) Using the graph below. determine the following:

|
’ A) The axis of symmetry
. 4
ol =&
{ 1
.: . B) State the maximum point
-5 4 3 _é _'1 1‘ 2 ——
[ ouiid :
| (-2,4)
'; 27
: : LA C) The roots of the equation.
o [-4,0) + (0,0)
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Operations with Polynomials - &

Given: f(x) =3x—1, gx) =x-9, k(x) =x2—4x+4, m(x) = 3x*+ 8x + 5 find each of the

following.
D Q)+ k(x)
DAV e X-H Ay

X 2-X +3

3 f(x) - g(x)
(AHn-0N(x-9)
A2 Tr-x +94

Ax*-2%8x +Q

4

|y

5) Subtract g(x) from k(x)

LXJ L-‘y*_',.‘: "'\X Q)
Ko-yx+4 - A9

v

AE—DATID

7 g(x) - f(x)

(%-9) (Hr-1)

Lyt = X 0K + 4
M- x5

1 o%
2) Subtract f(x) from m(x)

gbhé A S)-CBA-1)
DRAIIBATS - SR+

3x*+ 5x 1l
4)y m(x) — k(x)
@ﬁ9v8xr5)'(ﬂg x»u)
AN EATS=K T4 x-4

Ax> =13 X +)

6) m(x) + g(x)

4;3AQ 18X 1S A C\)

A xrax-y

|St

8) Subtract k(x) from m(x)

béﬁg%&fo)f§x14x+Lg
HxArg xS XA Ed
A x> 13X+
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GivenIf f(x) =x -4, g(x) =4x +8, ke(x) = 2x — 1,

A 990 @)
flay=9-d--2a

0(-3)=4l-)¢=12]

1) k(m(=4))

m-d)= 3-a)1b ="
(-6 = l-6)-1 = (VD)

*

13) k(f(_S))
(%) -3-4=-1
(1) =201 =72

15)m(g(0))

gto) - 4(0)18 = &

M (&) f%tg)”'b;@

m(x) = 3x + 6 find each of the following:

10) g(f (x))
HX-4)+¢
Llx-\pt&
LHx-B
12) k(m(x))
d(Bxtl) -
X +1a -}
PR Eal
14) k(f(x))
A (X-4) -l
Ax- G-
o *x-9
16) m(g(x))
3 (Y x ¥3) *LD'
|3 X +20
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Systems of Equations

17) Is (-3, -6) a solution of the system of equations: —4x +y =6 .
—Sx—y=21
L'{(.')))‘F{‘(O):({‘ ,__){ ’:)) _,'J l!‘;\ L/i 1
[~ — 1 » '
b=l v AR RV
N
J
18) Is (1. -2) a solutions of the system of equations: —5x 4+ y = —2
—3x+ 6y = —12
\ [
"5 R =9
Nol o
19) Is (3. -4) a solution of the system of equations: —7x — 2y = —13
—2y=11
“7(%)-Al-a) -3 T
-I%:_'/b (?))_QL"L‘):ll
1=y
v /
20) Is (-5. 4) a solution of the system of equations: . 2x — 3y = —1
y=x-1
Adl-5) - 3(4) <
oA f | Py

NO!
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Solving Equations

a 21) Solve and check: 2x — 54+ 7x = 11 — 3x + 4x

q J‘;)ﬂj/;
-‘)K‘S-: H(:;( ,‘ )§r“l('aﬂ'll'5(3)"((‘})
K)a«?s:—,_u 13 = 13
% v
B A1 v/
-
b)ﬁ -

e }‘"fj &y - 56 _____:————--
gy ~J¢u-‘l(°\)) —¢-9-7)
"Ry TSk
;S T ~\3% = -138
- b
| 0 \/: !

23) Solve and check: 8x + 16x — 12 = 24x — 16 + 4

AH kN2 = dAX1D
- Yx - JHX

Xa

“ o ok
mW 36 Luhons/

24) Solve and check: 5(2x +6) = —4(— —5—2x) + 3x W

- 5u0)
1 {,‘3 - a0 VWX

- 10X |50 =130
C EYE Ag X v
..;0 -
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